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(m/s) (m) () (cm/s | (cm)| (cm)
1] 29.0| NE | 4 18 9:10 0.38 2.3 C ESE 9.1 57 -1
2] 25.1 [INNwW| 2 23 15:10 0.77 35 S W 13.0] 148 35
3] 24.3 |[NNwW]| 2 27 4:10 0.91 3.3 | NW [NNw| 185]| 114 3
4] 23.2|SsSwW|12 21 23:40 0.98 3.3 S SW 14.2 | 150 20
5] 22.9 S 5 20 9:20 1.80 4.9 S |SsSw| 32.0] 121 62
6] 225| NW | 2 13 0:20 0.68 2.7 [INNW|NNW]| 15.5 99 1
7] 223| NW | 2 24 11:50 0.96 3.4 | NW N 12.0 35 -17
7] 223 |SSW|12 5 15:40 1.00 4.3 S SW 11.9] 155 37
9] 21.8| NE 4 8 7:40 1.10 4.0 E S 10.0 | 139 -1
100 214 NW ]| 4 1 14:10 0.51 2.5 C |WNW,| 8.0 139 11
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(m) () (m/s) (cm/s | (cm) | (cm)
1 1.80 4.9 S S 19.9] 5 20 9 |SSW 320 | 121 62
2 1.45 4.0 E [NNE| 20.6]| 4 8 9 ESE 158 94 -1
3 1.28 3.9|ENE| NE | 16.2 12 22 18 SE 47 74 -6
4 1.01 4.1 S S 17.9 |12 5 15 |SSW 156 | 159 37
5 0.99 3.7 E NE | 16.8] 8 21 20 SE 45 [ 190 -6
6 0.96 34| NW|NW| 2122 24 12 N 120 35 -17
7 0.91 3.3 | NW [NNW| 22.0] 2 27 4 |NNW| 185]| 114 3
8 0.85 35| SSE|[SSwW]| 16.7] 9 26 10 SE 132 72 20
9 0.82 3.6 |[ENE|NNW| 96| 4 18 10 |ENE 262 52 1
10 0.81 3.3 | ENE|[ENE 983 12 19 NE 48 | 133 -11
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(AP
(cm) (cm) (mfs) (m) () (cm/s
111 28 16 : 24 218 24| NE 2.8 0.19 2.9 C W 64|11 28
2| 8 3 5:33 217 121 S 7.0 0.32 2.6 C sw 11418 1
3|10 29 16 :26 216 16| SE 22 0.21 31 C sw 8.7110 29
41 8 4 6:11 215 12| ssw 7.3 0.41 2.9 C sw 145
5| 5 20 17 :30 212 24| SSW 53 0.47 34| C SSW 1305 20
6| 8 2 4:48 211 10| S 5.6 0.24 2.8 C sw 139|8 1
6| 10 29 5:26 211 15 | NNW 4.1 0.12 2.9 C sw 74110 29
612 14 17:22 211 71 N 4.3 0.27 2.6 C [WNW 58|12 13
612 15 17 :49 211 12| SE 5.9 0.28 241 C sw 82112 13
10| 8 3 18:33 210 8] S 11.9 0.72 3.2 S | WSwW 518 1
10|12 11 15:10 210 22| ssw| 15.0 0.59 3.0 S sw 8412 13
10|12 13 16 :38 210 11| NE 5.8 0.33 2.6 C sw 7.0(12 13
2
C
20
(AP
(cm) (cm) (mf/s) (m) () (cm/s
1| 5 6 11:18 -15 -8] N 3.6 0.28 2.7 C E 515 5
2| 6 4 11:04 -14 -8] N 20 0.25 2.8 C ENE 5116 4
3] 1 21 22:30 -12 -5| NNE 6.8 0.30 25 C NE 631 22
3| 5 7 12:01 -11 -2 S 5.5 0.25 2.6 C SE 595 5
5| 6 3 10:16 -11 -12| NNE| 114 0.47 25 C ESE 266 4
6| 4 8 12:18 -10 -7| NNE| 175 1.03 34| NE | NNE 1564 6
7| 7 3 10:59 -9 9| S 12.6 0.59 31 S SE 4317 3
7| 5 8 12 :44 -8 -4 NE 5.8 0.28 30| C ENE 0.6
9] 1 22 23:04 -7 1| N 2.7 0.17 30| C NNE 2101 22
10| 7 4 11:44 -7 -8 S 131 0.47 31 C SSE 3917 3
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